1. Evaluate the integrals. {10 pts. each)
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2. Evaluate the improper integral. (10 pts.)
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3. Evaluate the integrals. (10 pts. each)
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4. Evaluate the integral using a partial fractions decomposition. (10 pts.)
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5. Determine whether or nol the improper interval converges or davm:gw You do not need
to oompute the value of the integral, but ou must clearly and fully justily your answer to
receive full credit on this problem. (8 pts.)
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6. Solve the initial value problem. (10 pts.)
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8. Find a closed formula for Lhe given sequence. Be sure to include the range of n-values in
YOUr answer. (3 pts. each)
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9. I'ind the limit of the sequences. (4 pts. each)

() ()
W (s o e b (F2)(22)

L s S PR
bn*

(b) a, = (1 - %) ”. Hint: use properties of In(z).
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